
Party Money Problems
Read each of the word problems and choose 

an expression that will help you solve this problem.

● Each party hat costs $2. If Anna buys 15 hats, how 
much does she spend?

● A balloon costs $1.50. If Mike buys 20 balloons, how 
much does he spend?

● You have $60 and each gift bag costs $3. How many 
gift bags can you buy?

● A piñata costs $18. If you have $72, how many 
piñatas can you buy?

❏ 2 × 15

❏ 1.50 ÷ 20

❏ 72 ÷ 18

❏ 60 × 3

❏ 2 ÷ 15

❏ 1.50 × 20

❏ 72 × 18

❏ 60 ÷ 3


